




[Notation: they're using "o" (for output) instead of "a" (for activation); "i" is
sending and "j" is receiving but they're reversing the subscripts for weights]

[Note: lower-case delta below (in Eq. 1) is actually the derivative of error with
respect to the net input of a unit (dE/dn_j), but they start with linear units and
so use it for the derivative w.r.t. the output ("o") initially] 

[It may be clearer to ignore the math in italics here and rely on the
material as presented in the slides and lecture]



[this is the derivative of error with respect
to the net input (n_j) of the unit]








































